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Question Numbers : (1 to 5)
Question Label : Comprehension



Read the passage carefully and answer the question.

All over the world the wild fauna has been whittled down steadily and remorselessly. and many lovely and
mteresting animals have been so reduced in numbers that. without protection and help, they can never re-
establish themselves. If they cannot find sanctuary where they can live and breed undisturbed. their numbers
will dwindle until they join the dodo. the quagga. and the great auk on the long list of extinct creatures.

Of course. in the last decade or so much has been done for the protection of wild life: sanctuaries and reserves
have been started. and the reintroduction of species mto areas where it had become extinet 1s taking place. In
Canada. for instance. beavers are now being reintroduced into certain areas by means of aero plane.

But although much is being done. there is still a very great deal to do. Unfortunately. the majority of useful
work in animal preservation has been done mainly for animals which are of some economic importance to
man and there are many obscure species of no economic importance which. although they are protected on
paper. are mn actual fact being allowed to die out because nobody. except a few interested zoologists. considers
them important enough to spend money on.

As mankind increases year by year. and as he spreads farther over the globe burning and destroying. it is some
small comfort to know that there are certain private individuals and some institutions who consider that the
work of trying to save and give sanctuary to these harried animals 13 of some importance. It 1¢ important for
many reasons, but perhaps the best of them 1s this: man for all his genius, cannot create a species. nor can he
recreate one he has destroyed. So until we consider animal life to be worthy of the consideration and reverence
we bestow upon old books and pictures and historic monuments, there will always be the animal refugee living
a precarious life on the edge of extermination. dependent for existence on the charity of a few human beings.

Sub questions

Question Number : 1 Question Id : 68634040414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following would prove most effective in preserving wild life?

1. More Zoos

| S]

. Allocation of more funds
3. Sanctuaries
4. Loa against destruction of wild life

Options :

686340159601. 1
686340159602. 2
686340159603. 3
686340159604. 4

Question Number : 2 Question Id : 68634040415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Animal species should be preserved mainly because

1. man cannot recreate a species of animal if it be destroyed
2. zoologists want to study them
3. they are killed by cruel people
4. they are lovely creatures

Options :

686340159605. 1

686340159606. 2

686340159607. 3
686340159608. 4

Question Number : 3 Question Id : 68634040416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

1. Sympathy

| S

. Cruetly
3. Pity

4. Reverence

Options :

686340159609. 1
686340159610. 2
686340159611. 3
686340159612. 4

Question Number : 4 Question Id : 68634040417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following types of animals does man chiefly protect?
1. Harmless animals
2. Economically useful
3. Those without any shelter
4. Feeble animals
Options :
686340159613. 1

686340159614. 2
686340159615. 3



686340159616. 4

Question Number : 5 Question Id : 68634040418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The wild life 1s about to become extinet mainly because:

1. people kill animals callously

2

. there are very few places reserved for wild animals

L 5]

. people are ignorant
4. there are few institutions for preservation of wild life

Options :

686340159617. 1
686340159618. 2
686340159619. 3
686340159620. 4

Question Id : 68634040413 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the question.

All over the world the wild fauna has been whittled down steadily and remorselessly. and many lovely and
mteresting animals have been so reduced in numbers that. without protection and help, they can never re-
establish themselves. If they cannot find sanctuary where they can live and breed undisturbed. their numbers
will dwindle until they join the dodo. the quagga. and the great auk on the long list of extinet creatures.

Of course, in the last decade or so much has been done for the protection of wild life: sanctuaries and reserves
have been started. and the reintroduction of species into areas where it had become extinct 1s taking place. In
Canada. for instance, beavers are now being reintroduced into certain areas by means of aero plane.

But although much 1s bemg done. there 1s still a very great deal to do. Unfortunately. the majority of useful
work in animal preservation has been done mainly for animals which are of some economic importance to
man and there are many obscure species of no economic importance which. although they are protected on
paper, are in actual fact being allowed to die out because nobody. except a few interested zoologists, considers
them important enough to spend money on.

As mankind increases year by year. and as he spreads farther over the globe burning and destroying. it is some
small comfort to know that there are certain private individuals and some institutions who consider that the
work of trying to save and give sanctuary to these harried animals 13 of some importance. It 1¢ important for
many reasons. but perhaps the best of them 1s this: man for all his genius. cannot create a species. nor can he
recreate one he has destroyed. So until we consider animal life to be worthy of the consideration and reverence
we bestow upon old books and pictures and historic monuments, there will always be the animal refugee living
a precarious life on the edge of extermination. dependent for existence on the charity of a few human beings.

Sub questions



Question Number : 1 Question Id : 68634040414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following would prove most effective in preserving wild life?
1. More Zoos
2. Allocation of more funds
3. Sanctuaries
4. Loa against destruction of wild life
Options :
686340159601. 1
686340159602. 2

686340159603. 3
686340159604. 4

Question Number : 2 Question Id : 68634040415 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Animal species should be preserved mainly because

1. man cannot recreate a species of animal if it be destroyed

-2

. zoologists want to study them
3. they are killed by cruel people
4. they are lovely creatures

Options :

686340159605. 1

686340159606. 2

686340159607. 3
686340159608. 4

Question Number : 3 Question Id : 68634040416 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

1. Sympathy

J

. Cruetly
3. Pity

4. Reverence

Options :



686340159609. 1
686340159610. 2
686340159611. 3
686340159612. 4

Question Number : 4 Question Id : 68634040417 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following types of animals does man chiefly protect?

1. Harmless animals

J

. Economically useful
3. Those without any shelter

4. Feeble animals

Options :

686340159613. 1
686340159614. 2
686340159615. 3
686340159616. 4

Question Number : 5 Question Id : 68634040418 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The wild life is about to become extinet mainly because:
1. people kill animals callously
2. there are very few places reserved for wild animals

3. people are ignorant

4. there are few institutions for preservation of wild life

Options :

686340159617. 1
686340159618. 2
686340159619. 3
686340159620. 4

Sub-Section Number : 2
Sub-Section Id : 6863401332
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634040419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Synonym of the word 'CELESTIAL' 1a:

1. Solar

| S

. Gralactic
3. Astral

4. Heavenly

-

Options :

686340159621. 1
686340159622. 2
686340159623. 3
686340159624. 4

Question Number : 6 Question Id : 68634040419 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the word 'CELESTIAL' 1s:

1. Solar

| S]

. Galactic
3. Astral

4. Heavenly
Options :
686340159621. 1
686340159622. 2
686340159623. 3
686340159624. 4

Question Number : 7 Question Id : 68634040420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the following options:

India is one of the richest countries the world in terms of biodiversity. Due anthropogenic
activities, many species have lost their habitat and even become extent. International Union
conservation nature and natural resources has categorized with flora and fauna into eight categories.

1. in, of, to. for

[ ]

.of. to, of, m

L]

.in, for. of, to
4. . to, for, of

Options :

686340159625. 1
686340159626. 2
686340159627. 3
686340159628. 4

Question Number : 7 Question Id : 68634040420 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the following options:

India is one of the richest countries the world in terms of biodiversity. Due anthropogenic
activities. many species have lost their habitat and even become extent. International Union
conservation nature and natural resources has categorized with flora and fauna into eight categories.

1. in, of, to. for

k-2

. of, to. of, in
3.1, for. of to
4. in. to. for. of

Options :

686340159625. 1
686340159626. 2
686340159627. 3
686340159628. 4

Question Number : 8 Question Id : 68634040421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with suitable word from the options given below:
Light n a straight line.

1. goes

| B

. shines
3. moves
4. travels

Options :

686340159629. 1
686340159630. 2
686340159631. 3
686340159632. 4

Question Number : 8 Question Id : 68634040421 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with suitable word from the options given below:

Light n a straight line.

1. goes

| B

. shines
3. moves
4. travels

Options :

686340159629. 1
686340159630. 2
686340159631. 3
686340159632. 4

Question Number : 9 Question Id : 68634040422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which word is not the synonym of 'Colossal'.

1. huge

| ]

. gigantic
3. connmence

4, enormous



Options :

686340159633. 1
686340159634. 2
686340159635. 3
686340159636. 4

Question Number : 9 Question Id : 68634040422 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which word is not the synonym of 'Colossal'.

1. huge

(]

. gigantic
3. conumence

4, enormous

Options :

686340159633. 1
686340159634. 2
686340159635. 3
686340159636. 4

Question Number : 10 Question Id : 68634040423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Correct the sentence by replacing the under lined phrase:

Those who are indecisive can be readily persuading to change their mind again.

1. can be readily persuasive

| )

. can be readily persuaded
3. could be ready to persuade
4. can be ready persuading

Options :

686340159637. 1
686340159638. 2
686340159639. 3
686340159640. 4

Question Number : 10 Question Id : 68634040423 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Correct the sentence by replacing the under lined phrase:

Those who are indecisive can be readily persuading to change their mind again.

1. can be readily persuasive

-

. can be readily persuaded
3. could be ready to persuade
4. can be ready persuading

Options :

686340159637. 1
686340159638. 2
686340159639. 3
686340159640. 4

Question Number : 11 Question Id : 68634040424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the value of

16+4=4 —3+2

| )
|
e

Options :

686340159641. 1
686340159642. 2
686340159643. 3
686340159644. 4

Question Number : 11 Question Id : 68634040424 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the value of

16+4=4 —3+2

| )
|
e

4. 15

Options :

686340159641. 1
686340159642. 2
686340159643. 3
686340159644. 4

Question Number : 12 Question Id : 68634040425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cardboard box of dimensions 80 em = 60 cm x 75 em is to be constructed. Find the cardboard required (in
m?) for the box.

1.4.3

[ BO)
>
=]

4. 3.06

Options :

686340159645. 1
686340159646. 2
686340159647. 3
686340159648. 4

Question Number : 12 Question Id : 68634040425 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A cardboard box of dimensions 80 ¢m = 60 cm x 75 cm is to be constructed. Find the cardboard required (in
m?) for the box.

1.4.3

| )

.4.16

4. 3.06

Options :

686340159645. 1
686340159646. 2
686340159647. 3
686340159648. 4

Question Number : 13 Question Id : 68634040426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fruit vendor bought apples for T 6.000. He sold 40% stock with 25% profit. another 40% stock with 15%
profit and the rest with 10% profit. Find his profit percentage.

1.21%

| B}

. 19%

. 18%

LF¥]

4.18.5%

Options :

686340159649. 1
686340159650. 2
686340159651. 3
686340159652. 4

Question Number : 13 Question Id : 68634040426 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fruit vendor bought apples for  6,000. He sold 40% stock with 25% profit. another 40% stock with 15%
profit and the rest with 10% profit. Find his profit percentage.

1.21%

| B

. 19%

. 18%

L¥¥]

4.18.5%



Options :

686340159649. 1
686340159650. 2
686340159651. 3
686340159652. 4

Question Number : 14 Question Id : 68634040427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the three numbers. first number is twice of the second number and thrice of the third number. The
average of their reciprocals 1s 1/6. The numbers are:

1.6.3.

[ S

| Be]

C8. 4

| ]

3.12.6,4
4.18,.12.6

Options :

686340159653. 1
686340159654. 2
686340159655. 3
686340159656. 4

Question Number : 14 Question Id : 68634040427 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the three numbers. first number is twice of the second number and thrice of the third mumber, The
average of their reciprocals is 1/6. The numbers are:

1.6, 3,

[ ]

| B

C8. 4

| ]

3.12.6,4
4.18,.12.6

Options :

686340159653. 1
686340159654. 2
686340159655. 3
686340159656. 4

Question Number : 15 Question Id : 68634040428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A train runnimg at 90 km/'h crosses a 400 m long another train running towards it on parallel tracks at 80 kim/'h
in 18 seconds. How much time will it take to pass a 450 m long tunnel?

1. 28 seconds

| )

. 32 seconds

. 34 seconds

Lad

4. 36 seconds

Options :

686340159657. 1
686340159658. 2
686340159659. 3
686340159660. 4

Question Number : 15 Question Id : 68634040428 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train running at 90 km/h crosses a 400 m long another train running towards it on parallel tracks at 80 km/h
i 18 seconds. How much time wall it take to pass a 450 m long tunnel?

1. 28 seconds

[ )

. 32 seconds

. 34 seconds

LF¥]

4. 36 seconds
Options :
686340159657. 1
686340159658. 2

686340159659. 3
686340159660. 4

Question Number : 16 Question Id : 68634040429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A is facing the east direction. If he turns 270° he will face:
1. North direction
2. South direction
3. West direction

4. North or South direction

Options :



686340159661. 1
686340159662. 2
686340159663. 3
686340159664. 4

Question Number : 16 Question Id : 68634040429 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A is facing the east direction. If he turns 270° he will face:

1. North direction

| ]

. South direction

Laa

. West direction

4, North or South direction

Options :

686340159661. 1
686340159662. 2
686340159663. 3
686340159664. 4

Question Number : 17 Question Id : 68634040430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The tenth term of the given series 4Z, 5Y. 6X. TW. will be:

1.13M

J

.13P
3.130
4.13N

Options :

686340159665. 1
686340159666. 2
686340159667. 3
686340159668. 4

Question Number : 17 Question Id : 68634040430 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The tenth term of the given series 4Z, 5Y. 6X. TW. will be:

1.13M

| ]

13P
3.130

4. 13N

Options :

686340159665. 1
686340159666. 2
686340159667. 3
686340159668. 4

Question Number : 18 Question Id : 68634040431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given figure find the value of x (O is the center of the given circle?

4. 65°

Options :

686340159669. 1
686340159670. 2
686340159671. 3
686340159672. 4

Question Number : 18 Question Id : 68634040431 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the given figure find the value of x (O is the center of the given circle?

2. 50°

Options :

686340159669. 1
686340159670. 2
686340159671. 3
686340159672. 4

Question Number : 19 Question Id : 68634040432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ZOOM is coded as 138, The code 72 will be:

1.ROOT

b2

. TAGH
3. TOST

4. TOOR

Options :

686340159673. 1
686340159674. 2
686340159675. 3
686340159676. 4

Question Number : 19 Question Id : 68634040432 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ZOOM is coded as 138, The code 72 will be:

1.ROOT

b2

. TAGH
3. TOST
4. TOOR
Options :
686340159673. 1
686340159674. 2

686340159675. 3
686340159676. 4

Question Number : 20 Question Id : 68634040433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
2.7, 14, 23, 34,
Complete the series choosing appropriate option:
1. 36
2.43
3.47
4. 62
Options :
686340159677. 1
686340159678. 2

686340159679. 3
686340159680. 4

Question Number : 20 Question Id : 68634040433 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
2.7, 14, 23, 34,
Complete the series choosing appropriate option:
1. 36
2.43
3.47

4. 62



Options :

686340159677. 1
686340159678. 2
686340159679. 3
686340159680. 4

Question Number : 21 Question Id : 68634040434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first general election in India was held in

1. 1950

| ]

. 1951
3. 1952
4. 1947

Options :

686340159681.
686340159682.
686340159683.
686340159684.

AW N~

Question Number : 21 Question Id : 68634040434 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first general election in India was held in

1. 1950

J

. 1951
3. 1952
4. 1947

Options :

686340159681.
686340159682.
686340159683.
686340159684.

W N =

Question Number : 22 Question Id : 68634040435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

ILIST I (Monuments)| LIST II (Country)
Imperial palace | 1. [France

(Opera House II. [Denmark
Eiff=] Tower 111 |Australia
[Kindu Disk IV. Japan

ofofw[>

Choose the correct answer from the options given below:

1. A-IV. B-I. C-III. D-II

| )

AL B-IV. C-1. D-II
3. A-IV. B-III. C-1. D-II
4. A-IV, B-III. C-II. D-I

Options :

686340159685. 1
686340159686. 2
686340159687. 3
686340159688. 4

Question Number : 22 Question Id : 68634040435 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Monuments)] LIST II (Country)
Imperial palace | 1. |[France

Opera House 1. [Denmark
Eiffel Tower 1L |Australia
[Kindu Disk IV Papan

o ofw[>

Choose the correct answer from the options given below:

1. A-IV. B-I. C-III. D-IT

[

AL B-IV. C-1, D-II
3. A-IV. B-IIL. C-I. D-II
4. A-IV. B-ITI. C-II. D-I

Options :

686340159685. 1
686340159686. 2
686340159687. 3
686340159688. 4

Question Number : 23 Question Id : 68634040436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

When was Jana-Gana-Mana (which later became National Anthem' of India) first sung and where?

1, 24t January, 1950 in Allahabad

| S

.24th January, 1950 in Delhi
3. 26 December, 1942 in Calcutta

4. 27" December, 1911 in Calcutta

Options :

686340159689. 1
686340159690. 2
686340159691. 3
686340159692. 4

Question Number : 23 Question Id : 68634040436 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

When was Jana-Gana-Mana (which later became National Anthem' of India) first sung and where?

1. 24t January. 1950 in Allahabad

| S

.24t January, 1950 in Delhi
3. 26™ December, 1942 in Calcutta

4. 27" December, 1911 in Calcutta

Options :

686340159689. 1
686340159690. 2
686340159691. 3
686340159692. 4

Question Number : 24 Question Id : 68634040437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement [ : Lord Mountbatten was the Viceroy when Simla conference took place.

Statement I1 : Indian Navy Revolt, 1946 took place when the Indian Satlors in the Royal Indian Navy at
Bombay and Karachi rose against the Government.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are true
2. Both Statement [ and Statement are false
3. Statement I is true but Statement II is false

4. Statement I 1s false but Statement I1 15 true

Options :

686340159693. 1
686340159694. 2
686340159695. 3
686340159696. 4

Question Number : 24 Question Id : 68634040437 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Lord Mountbatten was the Viceroy when Simla conference took place.

Statement II ; Indian Navy Revolt, 1946 took place when the Indian Sailors in the Royal Indian Navy at
Bombay and Karachi rose against the Government.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement [ and Statement are false
3. Statement I iz true but Statement II is false

4. Statement [ is false but Statement 11 1s true

Options :

686340159693. 1
686340159694. 2
686340159695. 3
686340159696. 4

Question Number : 25 Question Id : 68634040438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The gas which 1s present in both natural gas and bio-gas is

1. Methane

| S

. Carbon Monoxide
3. Hydrogen
4. Butane
Options :
686340159697. 1
686340159698. 2

686340159699. 3
686340159700. 4

Question Number : 25 Question Id : 68634040438 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The gas which is present in both natural gas and bio-gas is
1. Methane
2. Carbon Monoxide
3. Hydrogen
4. Butane
Options :
686340159697. 1
686340159698. 2

686340159699. 3
686340159700. 4

Part B: Painting

Section Id : 686340796
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401333
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 26 Question Id : 68634040439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8H the hardest to 8B safest-it is related to

—

. Soft pastels

| S

. 01l pastels

L S]

. Graphite pencils
4. Pen & mk

Options :

686340159701. 1
686340159702. 2
686340159703. 3
686340159704. 4

Question Number : 26 Question Id : 68634040439 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SH BRI Y 8B GOIH fhad Sa2d ¢ |

1. elrgH Ued
2. dd ied

3, Uhlec Uiaa
4. T 3R el

Options :

686340159701. 1
686340159702. 2
686340159703. 3
686340159704. 4

Question Number : 27 Question Id : 68634040440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most prized blue was ultramarine, made from

1. Blue sapphire

-t

2. Indigo plant
3. Animal bones
4. Lapis Lazuli

Options :

686340159705. 1
686340159706. 2
686340159707. 3
686340159708. 4

Question Number : 27 Question Id : 68634040440 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&Y Heuar Siadl e sregrRi o1 58 a=mn mr o1 -
1. T8 e
2. et T dier
3. GG B3l

4. Qo TTget

Options :

686340159705. 1
686340159706. 2
686340159707 3
686340159708. 4

Question Number : 28 Question Id : 68634040441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What do we mean by translucency of color

1. One cannot see through them

| S

. One can see through them
3. One can feel the texture in them

4. One can feel the smoothness in them

Options :
686340159709. 1



686340159710. 2
686340159711. 3
686340159712. 4

Question Number : 28 Question Id : 68634040441 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{1 H Rt 9 & e 82

IS 3% H1H I T8 39 Pl ©

2. BIg SHD HIH U 48 Hdl &

3. @5 59H 9¢ F| To4d 2 9odl &

ok

4, T SHH TR e gy &2 95dl ©

Options :

686340159709. 1
686340159710. 2
686340159711. 3
686340159712. 4

Question Number : 29 Question Id : 68634040442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Conte rayons have been named after French scientist-

1. Palazzo Conte

~

2. Nicolas Jacques Conte
3. Nicolas Kage Conte
4. Antonio Corregio Conte

Options :

686340159713 1
686340159714. 2
686340159715. 3
686340159716. 4

Question Number : 29 Question Id : 68634040442 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g it e & 98 IR S [l &1 = fear T
1. GaT=il DI

. Ty

2. Fpiag Seg 3

s N

3. g e B

4. Gl PR i

Options :

686340159713. 1
686340159714.2
686340159715. 3
686340159716. 4

Question Number : 30 Question Id : 68634040443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cave No 4 in Bagh cave paintings is also known as

1. Ring Guifa

-

2. Ring Mahal
3. Kala Mahal

4. Kala Gufa

Options :

686340159717. 1
686340159718. 2
686340159719. 3
686340159720. 4

Question Number : 30 Question Id : 68634040443 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 11 § 71 A, 4 B Ui @l oo 219 I SH1 Sl 3
1. T W]
. HEd

| B

(%]

B HEd
4. A TH]

Options :



686340159717. 1
686340159718. 2
686340159719. 3
686340159720. 4

Question Number : 31 Question Id : 68634040444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lepakshi Paintings were executed on:

1. Walls of sittanavasal cave

2

. Ceilings of Kailasha temple

aa

. Walls of Jogimara cave
4. Veerabhadra temple walls

Options :

686340159721. 1
686340159722. 2
686340159723. 3
686340159724. 4

Question Number : 31 Question Id : 68634040444 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

et ufd fFHsarfad feu g -

1. RraHaga of 9k 9=
2. PAG AR F BI W
3. SR & RO
4, AR AfR T W

Options :

686340159721. 1

686340159722.2

686340159723. 3
686340159724. 4

Question Number : 32 Question Id : 68634040445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In 1846, the first water colours in tubes were introduced by:

1. Winson and Newton

-t

2. William Reeves

3. Camline

4. Vincent Vangaugh
Options :
686340159725. 1
686340159726. 2

686340159727. 3
686340159728. 4

Question Number : 32 Question Id : 68634040445 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1846 T, Ugcll R Sl & fbgd gR1 & fhar

1. fdeR iR =2
2. Toferam feaw
3. IR
4. fade g 7w

Options :

686340159725. 1

686340159726. 2

686340159727. 3
686340159728. 4

Question Number : 33 Question Id : 68634040446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which kind of brush considered the best for water colours-
1. Hog
2. Horse

3. Sable

4. Camel

Options :
686340159729. 1



686340159730. 2
686340159731. 3
686340159732. 4

Question Number : 33 Question Id : 68634040446 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A W O 59 UPR & 99 & garady S oidl &

1. 3R
2. "l
3. 4gq
4.3¢

Options :

686340159729. 1

686340159730. 2

686340159731. 3
686340159732. 4

Question Number : 34 Question Id : 68634040447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The surface of painting 1s known as-

1. Supports and grounds

| S]

. Paper and Canvas
3. Wall and floor

4. Hard and soft

Options :

686340159733. 1
686340159734. 2
686340159735. 3
686340159736. 4

Question Number : 34 Question Id : 68634040447 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



REear & AR & =9 71 O 8-
. TR AR e

ok

-

2. UR 3R Hary
3. AR 3R oHHA
4, FOR R TargH

Options :

686340159733. 1
686340159734. 2
686340159735. 3
686340159736. 4

Question Number : 35 Question Id : 68634040448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Gouache is

—

. Transparent

| S

. Opaque
3. Transculance
4. Alla Pruna
Options :
686340159737. 1
686340159738. 2

686340159739. 3
686340159740. 4

Question Number : 35 Question Id : 68634040448 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
T (7T §
1. URei®
Iy
IS -ORERD
4. 3Tell WIGHT

[ ]

L¥¥]

Options :



686340159737. 1
686340159738. 2
686340159739. 3
686340159740. 4

Question Number : 36 Question Id : 68634040449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Balance. emphasis. thythm. unity and contrast are-

1. Principles of pamting

2

. Elements of painting

aa

. Surface of painting
4. Technique of painting

Options :

686340159741. 1
686340159742. 2
686340159743. 3
686340159744. 4

Question Number : 36 Question Id : 68634040449 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

. HAURUL 98, 5Pl5 3R [dyHarg
1. e & Wi [gid
fEF@m e da

[ ]

EE & gds

L¥N]

.

1. TEear ot o1l ugfd

Options :

686340159741. 1
686340159742. 2
686340159743. 3
686340159744. 4

Question Number : 37 Question Id : 68634040450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gouache color has been traditionally used for:

1. Indian miniatures

| S]

. Phad painting
3. Cave pamting
4. Wash painting
Options :
686340159745. 1
686340159746. 2

686340159747. 3
686340159748. 4

Question Number : 37 Question Id : 68634040450 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T T UK 0 I SUET g1 §
. YR T Sl
2. s @
%1 e
4. e ez

Options :

686340159745. 1
686340159746. 2
686340159747. 3
686340159748. 4

—

o

[#¥]

Question Number : 38 Question Id : 68634040451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Between the flat and the rounds brushes known as:

1. Fan brushes

2. Hard brushes

%]

. Filbert brushes

4. Soft brushes

Options :
686340159749. 1



686340159750. 2
686340159751. 3
686340159752. 4

Question Number : 38 Question Id : 68634040451 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS SR T =T ST ol &
1. B s
2. HAR W
3. fpemc oW

4. TETaH 59

Options :

686340159749. 1
686340159750. 2
686340159751. 3
686340159752. 4

Question Number : 39 Question Id : 68634040452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Pastels-sticks of colour bound with -
1. Gum or resin
2. Glue
3. Egeg volk
4. Linseed

Options :

686340159753. 1
686340159754. 2
686340159755. 3
686340159756. 4

Question Number : 39 Question Id : 68634040452 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W& Y Iead Bol aUT BT &
1. 779 R IASH

-

2.7q
3. 38 Pl
4. feifes

Options :

686340159753. 1
686340159754. 2
686340159755. 3
686340159756. 4

Question Number : 40 Question Id : 68634040453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lithograph poster artist

1. Edgar Degas

b2

. Camille Pissarro
3. Auguste Renoir
4. Toulouse-Lautrec

Options :

686340159757. 1

686340159758. 2

686340159759. 3
686340159760. 4

Question Number : 40 Question Id : 68634040453 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feTTITe T Ue? SedhR
1. USTR &7
2, ity R
3. ST ¥R
4. oIS

Options :
686340159757. 1



686340159758. 2
686340159759. 3
686340159760. 4

Question Number : 41 Question Id : 68634040454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Michel Eugene chevreul's theory underpinned the painter's use of colour in the late 19,

1. Renaissance

[ ]

. Dadaism

Lad

. English Watercolourists
4. Impressionist

Options :

686340159761. 1

686340159762. 2

686340159763. 3
686340159764. 4

Question Number : 41 Question Id : 68634040454 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19 o Yrarsd] & 3id | el goitd Yaved 3 ¥ & OHaeR Sugi of WEifed fear.
1. GISITRO] &Td
2. qlcldig
3. 3t o 1 &t

4. YHIddlq

Options :

686340159761. 1
686340159762. 2
686340159763. 3
686340159764. 4

Question Number : 42 Question Id : 68634040455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When a primary and secondary are mixed together, they make a

1. Primary colour
2. Secondary colour
3. Tertiary colour
4, Translucence

Options :

686340159765. 1

686340159766. 2

686340159767. 3
686340159768. 4

Question Number : 42 Question Id : 68634040455 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wrufties IR fgdiae ear /31 fidH w3 a1 8

L. W &

fedige @
3. qdigsd 31
4. HG-IREH

Options :

686340159765. 1

686340159766. 2

686340159767. 3
686340159768. 4

[ ]

Question Number : 43 Question Id : 68634040456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1
Who created color wheel-
1. Nam June Paik
2. Eric Gill
3. Brian Clarke
4. Michel Eugene Chevrenl

Options :
686340159769. 1



686340159770. 2
686340159771. 3
686340159772. 4

Question Number : 43 Question Id : 68634040456 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Gid 9% [Ha- &1

1. 7T O U5

2. 0R® |

3. ST AT

4. oyt it Ria=al

Options :

686340159769. 1
686340159770. 2
686340159771. 3
686340159772. 4

Question Number : 44 Question Id : 68634040457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

-shape and Gouges used for:

1. Silk sereen

2. Metal craft

LFN]

. Lithography
4. Wood cut

Options :

686340159773. 1
686340159774.2
686340159775. 3
686340159776. 4

Question Number : 44 Question Id : 68634040457 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dl-3MPR SR TS BT 7a Bl 8
1. Re wpiA

. o7 e

3. ferytamet

[ ]

4.5 Pe

Options :

686340159773. 1
686340159774. 2
686340159775. 3
686340159776. 4

Question Number : 45 Question Id : 68634040458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Acrylies were developed in the-

1. 1940z

-2

. 19208
3. 1900s

4. 1890s

Options :

686340159777. 1
686340159778. 2
686340159779. 3
686340159780. 4

Question Number : 45 Question Id : 68634040458 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Ueh T o1 A g3l

1. 1940s

[ ]

. 1920s

. 1900s

[F¥]

4. 1890s

Options :
686340159777. 1



686340159778. 2
686340159779. 3
686340159780. 4

Question Number : 46 Question Id : 68634040459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Oil paints the medium 1s a vegetable oil that dries naturally when exposed to air- which oil not good for
this-

1. Linseed oil

[ ]

. Poppy seed oil

. Olive oil

Lad

4. Walnut o1l

Options :

686340159781. 1
686340159782. 2
686340159783. 3
686340159784. 4

Question Number : 46 Question Id : 68634040459 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

T T {19 U GT=41d o § ol gal & 99 3§ ofF IR WIS &9 ¥ J@ Sl 5. 9 7d 55 [0
BRI R

1. fdifgs da

2. idl ot de

3. iferg sifoe/ da

4. 3ERIE A

Options :

686340159781. 1
686340159782. 2
686340159783. 3
686340159784. 4

Question Number : 47 Question Id : 68634040460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In paintings- medieval and early renaissance artists only had one media option-
1. Oil colour on panel

2. Water colour on paper

L¥ ]

. Egg tempera on panel (wood)
4. Encaustic on cloth

Options :

686340159785. 1
686340159786. 2
686340159787. 3
686340159788. 4

Question Number : 47 Question Id : 68634040460 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl SR RIS Y6 RY GAER Hedl 4 dad U H1ey ol [deed U1
1. 08 R e 91

2. TR R o d 1

3. 099 (@Pal) W UTE AR

4, UG R HDIES

)

Options :

686340159785. 1
686340159786. 2
686340159787. 3
686340159788. 4

Question Number : 48 Question Id : 68634040461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Aerial perspective- also called

1. Foreshortening

b2

. Overlapping

LFN]

. Atmospheric perspective
4. One point perspective

Options :
686340159789. 1



686340159790. 2
686340159791. 3
686340159792. 4

Question Number : 48 Question Id : 68634040461 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P uRued +ft T ST §
1. GBI AT
2. ffaR @t/ sifqeary=
3. agHSAY P
4. U@ fdg =fimro

Options :

686340159789. 1
686340159790. 2
686340159791. 3
686340159792. 4

Question Number : 49 Question Id : 68634040462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
The medium of Ajanta painting was

1. Gouache

-~

2. Tempera
3. Soft pastels

4, Water colour

Options :

686340159793. 1
686340159794. 2
686340159795. 3
686340159796. 4

Question Number : 49 Question Id : 68634040462 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HoTl oA BT HIEH

1.7
2. CERT
3. oI / U U
e

Options :

686340159793. 1

686340159794. 2

686340159795. 3
686340159796. 4

Question Number : 50 Question Id : 68634040463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is Azurite?

1. Purplish blue pigment

J

. Greenish blue pigment
3. Blue pigment
4. Black pigment

Options :

686340159797. 1

686340159798. 2

686340159799. 3
686340159800. 4

Question Number : 50 Question Id : 68634040463 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
HRTEE FE
1. TR e 3
2. Uirer e &
3. AT
4. T

Options :
686340159797. 1



686340159798. 2
686340159799. 3
686340159800. 4

Question Number : 51 Question Id : 68634040464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Prints from which country had a great influence on Van Gogh?

1. China

12

. India

LFN]

. Japan
4. Paris

Options :

686340159801. 1
686340159802. 2
686340159803. 3
686340159804 4

Question Number : 51 Question Id : 68634040464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ftic 1 a8 & fo78 42 &1 914 711 T Jgd UH1G ISl
1.9

[ ]

YRd
3. S
4. °Rg

Options :

686340159801. 1
686340159802. 2
686340159803. 3
686340159804. 4

Question Number : 52 Question Id : 68634040465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



such as engravings and etchings. are passed through rollers like a mangle and ink is forced into
meised furrows

—t

. Relief print

[ ]

. Intaglio prints

Lad

. Planography
4. Digital prints

Options :

686340159805. 1
686340159806. 2
686340159807. 3
686340159808. 4

Question Number : 52 Question Id : 68634040465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST I U R TIHTE S AT & HIFT H TGS § SR et &1 IH1 / I v & g 3@l
gfgd o ST o711 87
1. i fije

 gefemt

3, TSR]

4. foforea fie
Options :
686340159805. 1
686340159806. 2

686340159807. 3
686340159808. 4

| E)

Question Number : 53 Question Id : 68634040466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Art 15 not used for which of the following

1. Beautification

2

. Decoration

Taa

 Civility

e

. Discipline



Options :

686340159809. 1
686340159810. 2
686340159811. 3
686340159812. 4

Question Number : 53 Question Id : 68634040466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=8 O fo5ges fore sa &1 wanT 8! faa oirar -
i ? ff

2. 9vildc

3.94dl

4. SR

Options :

686340159809. 1
686340159810. 2
686340159811. 3
686340159812. 4

Question Number : 54 Question Id : 68634040467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who was the artist known for his etching?

1. Henri de Toulouse-Lautrec

| ]

. Jasper John
3. Rembrandt

4. Frans Masereel

Options :

686340159813. 1
686340159814. 2
686340159815. 3
686340159816. 4

Question Number : 54 Question Id : 68634040467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&I G HATHR SR & 70 oI ST &

1. TRI-S qR-a®
2. SR 9T
3. 35T
4. 7519 TARE

Options :

686340159813. 1

686340159814. 2

686340159815. 3
686340159816. 4

Question Number : 55 Question Id : 68634040468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Virupaksa temple at Hampi has murals representing episodes from the-

1. Mahabharata and Ramayana

| S]

. Geet Govind and Mahabharta
3. Rigved and Yajurved
4. Ragmala and Bhagwat Geeta

Options :

686340159817. 1
686340159818. 2
686340159819. 3
686340159820. 4

Question Number : 55 Question Id : 68634040468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

faeane dfex o gvdt & fud § gud fufa il § foger o g

 HBTHR IR IHR0

2. Tiar T 3R HeTyRa
3. 35748 3R gda

4. FTHTET SR IagIa

jan

-

Options :



686340159817. 1
686340159818. 2
686340159819. 3
686340159820. 4

Question Number : 56 Question Id : 68634040469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Simplest form of perspective is

1. One pomt perspective

J

. Multiple-point perspective
3. Burd eye view
4. Open eye view

Options :

686340159821. 1

686340159822. 2

686340159823. 3
686340159824. 4

Question Number : 56 Question Id : 68634040469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
URUED &1 IRATH T &-

.U, fdg uRbieg

Tt/ gy fig uikued

3. 99 319 4 g&l

4, Gail 3T ¥ &l

il

[ ]

Options :

686340159821. 1
686340159822. 2
686340159823. 3
686340159824. 4

Question Number : 57 Question Id : 68634040470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Water based paint is-
1. 0il

2. Gouache

3. Pastel

4. Gouache and Pastel

Options :

686340159825. 1
686340159826. 2
686340159827. 3
686340159828. 4

Question Number : 57 Question Id : 68634040470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U OR ST FeR &
1.dd
2. 7=
3. U%d
4. 7T SR Ueed

Options :

686340159825. 1
686340159826. 2
686340159827. 3
686340159828. 4

Question Number : 58 Question Id : 68634040471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. The Tub-Pablo Picasso
B. The tub-Edgar Degas
C. The Tub-Manet

D. The Tub-Monet

Choose the correct answer from the options given below:
1. Aonly
2. B only
3. C only
4.D only

Options :

686340159829. 1
686340159830. 2
686340159831. 3
686340159832. 4

Question Number : 58 Question Id : 68634040471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A ETF - Uil fUsprat
B.G ¥4 - USTR &M
c.ged- A
D.§¢d-HiHe

i< fdu 70 [d@edl § 9 9 33 @1 99 B
1. ®dd A
2. had B
3. ®ad C
4.9ddD

Options :

686340159829. 1
686340159830. 2
686340159831. 3
686340159832. 4

Question Number : 59 Question Id : 68634040472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List [T

LISTI LISTII
A |Edgar Degas I |Women at the river
B. |Paul Gaugin II. [St. Jerome i his study
C. [Francisco Gova | [I1. [Marry Cassatt at the Louvren: pamtings gallerv,
D. Durer IV. [Wavs of flving.

Choose the correct answer from the options given below:

1. A-IIL. B-1. C-II. D-IV

| )

. A-IIL B-I. C-IV, D-II
3. A-L, B-IIL, C-IL, D-IV
4. A-1. B-III. C-IV, D-11

Options :

686340159833. 1
686340159834. 2
686340159835. 3
686340159836. 4

Question Number : 59 Question Id : 68634040472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 1 1 g 11 e Sifsu
T I Tl 11
A [ESTR &M 1 [l W 3Rd
B. [aid MEH 1L [Hd SR 30 3509 §
C. (i) man | 1L [oE | S99 § Wl aEd 99ed
D. [sgR IV [35d & b
frafafed fawenl § J Uet SR &1 994 S -

1. A-IIL B-1. C-II. D-IV

| B

AL B-1L C-IV. DA-II
3. A-L. B-III. C-II. D-IV
4. A-I. B-III. C-IV. D-II

Options :

686340159833. 1
686340159834. 2
686340159835. 3
686340159836. 4



Question Number : 60 Question Id : 68634040473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Form can be understood as-

—

. The shape and structure of a work of Ast

-2

. Colour palette of a work of Art

Lad

. Textual quality of a work of Ast

e

. HE’II‘HIOII}" and contrast

Options :

686340159837. 1
686340159838. 2
686340159839. 3
686340159840. 4

Question Number : 60 Question Id : 68634040473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHR JHT o 9Hdl &
1. A P TFH B BT TSR AT I35

2. B $ B B UH G

3. el & BRI Pl §H1GC P UGl

4. g9 3R fauad

Options :

686340159837. 1
686340159838. 2
686340159839. 3
686340159840. 4

Question Number : 61 Question Id : 68634040474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Artists are Maxtaposition to create

1. Harmony

-2

. Texture

3. Flow

o

: COH})RHSiOﬂ or confrast

Options :

686340159841. 1
686340159842. 2
686340159843. 3
686340159844. 4

Question Number : 61 Question Id : 68634040474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FADR g gor & o DareTd o 1 uan #vd ¢ -
1. S/ g

2. g-ldc

o

3. aIg
4. T 41 fawsdr

Options :

686340159841. 1
686340159842. 2
686340159843. 3
686340159844. 4

Question Number : 62 Question Id : 68634040475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Acrylic is-

1. A fast drying water-based medium

]

. A slow drying water-based medium
3. An organic colour pigment
4. A fast drying oil-based medium

Options :
686340159845. 1



686340159846. 2
686340159847. 3
686340159848. 4

Question Number : 62 Question Id : 68634040475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ThIee § -

Al T gE- arel el Hiegd

2. 18§ @ 9ren S J@1eEE

3. 0% ifgd T g

4. ISl 8 @ AT ad e

ok

)

Options :

686340159845. 1
686340159846. 2
686340159847. 3
686340159848. 4

Question Number : 63 Question Id : 68634040476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Fresco Secco is the technique of-

1. Miniature art

2

. Printmaking
3. Mural Painting where paint is applied to dry plaster
4. Mural painting where paint 1s applied to dump plaster

Options :

686340159849. 1
686340159850. 2
686340159851. 3
686340159852. 4

Question Number : 63 Question Id : 68634040476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IEp] Wbl AH-1 ©

. T o e

2. fuifdm afdmn

3. fufxr femor g8 @iy iR 961 31 & fhan Wi
4. T Fepon 7iiel WiveR R el 1 &l foha1 9y

ik

Options :

686340159849. 1
686340159850. 2
686340159851. 3
686340159852. 4

Question Number : 64 Question Id : 68634040477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hue can be defined as-

—t

. A pure colour with a specific wavelength
2. A secondary colour with specific wavelength
3. Lightness of colour

4. Darlmess of colour
Options :
686340159853. 1
686340159854. 2

686340159855. 3
686340159856. 4

Question Number : 64 Question Id : 68634040477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 &1 ufuifee fova s g
fofy a3 & Wy g
. fafry oo el & fgcitaes
3. TP ged U

iy

| §)

4. T BT I

Options :
686340159853. 1



686340159854. 2
686340159855. 3
686340159856. 4

Question Number : 65 Question Id : 68634040478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Impasto 1s-

1. The thick application of paint on a surface

2. A water colour Brand

3. A print making technique
4. A famous poet of England

Options :

686340159857. 1
686340159858. 2
686340159859. 3
686340159860. 4

Question Number : 65 Question Id : 68634040478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I -
1, FE TR T BT TERT WA
2. ol 1 ¢SHG
3. fiifdar AfdT a-id
4. BIIUS BT U URIg aa-

Options :

686340159857. 1
686340159858. 2
686340159859. 3
686340159860. 4

Question Number : 66 Question Id : 68634040479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A [Engraving B [Nitric Acid
B. |Sengraphy II. [Lime Stone
C. [Etching II1. [Burin
D. [Lithography IV, |Squeeze

Choose the correct answer from the options given below:

1. A-IV. B-III. C-I. D-IT

| )

. A-1. B-1I. C-III. D-IV
3. A-IIL, B-IV. C-1. D-IT
4. A-IV, B-III. C-II. D-I

Options :

686340159861. 1
686340159862. 2
686340159863. 3
686340159864. 4

Question Number : 66 Question Id : 68634040479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ e S
g1 T I
A [ 1 [sfed uis
B [ %A | I [FT0eR
C. [Farosin | e
D. [fyars! 1V, [l
afeed f9eedl O ° 9o! SR &1 99 DI ;

1. A-IV. B-III. C-1. D-II

| B

AL B-IIL C-III, D-IV
3. A-IIL B-IV. C-1. D-11
4. A-IV, B-1III. C-I1, D-I

Options :

686340159861. 1
686340159862. 2
686340159863. 3
686340159864. 4



Question Number : 67 Question Id : 68634040480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
[ ithographv 1. |Relief printing
Metal engraving | 11 [Planography
Wood engraving | ITL [Intaglio
Silk screen IV. [Stencil printing

o ofw[

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV

[

. A-IL B-IIL C-L. D-IV
3. A-IV. B-IIL. C-I. D-II
4. A-II. B-1. C-IIIL, D-IV

Options :

686340159865. 1
686340159866. 2
686340159867. 3
686340159868. 4

Question Number : 67 Question Id : 68634040480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gl 11 9 e Sifn

Tl 1 1
N GRIEIE 1. e it
T S0 | 1L [Tl
@IE Saiv | 1L [Gefem
e @E | 1v. i

fgfaiad fdeedl & 9 Tel STk &1 994 Sifoiy :

1. A-I. B-1I. C-III. D-IV

CIREIE

| B

A-IL B-IILL C-1. D-IV
3. A-IV. B-IT1, C-1. D-II
4. A-1L, B-1. C-1II, D-IV

Options :

686340159865. 1

686340159866. 2
686340159867. 3



686340159868. 4

Question Number : 68 Question Id : 68634040481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Pesh 1. PMezzotint
B. |Rossin II. [Litho
C. [Braver III. |Silk screen
D. [Rocker IV |Aquatint

Choose the correct answer from the options given below:

1. A-IL, B-III. C-IV. D-I

[

. A-L B-III, C-IV, D-II
3. A-IIL, B-IV. C-II, D-1
4. A-IIT, B-IV. C-I, D-11

Options :

686340159869. 1
686340159870. 2
686340159871. 3
686340159872. 4

Question Number : 68 Question Id : 68634040481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ e S
g1 T I
A e 1. [Hwifde
B. RifvH 1. [ferut
C. R 11 [ed B
D. Rlaz V. [o@ifée
FFrafeiad faeeal § 9 9t 3R &1 90+ iy :

1. A-IL. B-III. C-IV. D-I

| B

CA-L BAIILL C-IV. DAII
3. A-IIL, B-IV. C-I1. D-I
4. AL B-IV. C-I. D-II

Options :
686340159869. 1



686340159870. 2
686340159871. 3
686340159872. 4

Question Number : 69 Question Id : 68634040482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Kerala pamters evolved a pictorial language and technique of their own. while diserimmately
adopting certain stulistic elements from Nayaka and Vijayanagara school.

Reason R: The Kerala mural painters evolved a language taking cues from contemporary traditions, like
Kathakali and Kalyan ezhuthu traditions

In the light of the above statements, choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 18 NOT the correct explanation of A
3. A is true but R 1s false

4. A is false but B is true

Options :

686340159873. 1
686340159874. 2
686340159875. 3
686340159876. 4

Question Number : 69 Question Id : 68634040482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 3 HF QU U B U IS (Assertion A) & & H 1RG0 © 1 G8R1 39 BRI (Reason R) &
FO0H:

SHTUBYT A: B RAPRI A A0S SR [G0R Wl Siayd Ud dedl ol TR-3a1de
SYATd BU U T4 @] [FHATE® YT SR dd-id] & [qeTE (|

PRI R: S [URT TESRI 7 Syl 3R o S0y ORI ol §HaHie RER1H 3 U od §U
U 5 Yl [diaa o1

SURIGd Y- & 3l H, = f3u 7 fabedi & I 9ad Sugad JT &1 99 ST
1. A 3R R M 98 € SR R. A S| el SR 8

A 3R R EHI U8 € IR R. A D WEl TS Tl ©

ATE 2 AfFAR T AR

AT TR e APTIR I B

Options :

686340159873. 1
686340159874. 2
686340159875. 3
686340159876. 4

[ )

[F¥]

e

Question Number : 70 Question Id : 68634040483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Dry point is the simplest and most direct of the Intaglio process.

Reason R: Dry point is an interesting introduction to working on metal. especially if you have limited access
to printmaking facilities.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

| B

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct
4. A 15 not correct but R is correct

Options :

686340159877. 1
686340159878. 2



686340159879. 3
686340159880. 4

Question Number : 70 Question Id : 68634040483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 Bl B2 (ST T 6 U 3BT (Assertion A) & & I [oRdd ¢ 0l gHI 39D HRUT (Reason R) B
FOH:

Py A: SR T § Y fog Tad uR 3R T6 Tae e

BRI R: YD [aig, UG U P D & (AU U Side YR=Y ¢, [AUSHR §a 19! ggul (Hafor gigensi
% Hifd ugd 8l

SRl Y o 3l |, A= f3u T fas el & § 9ad Sugad 9ok &1 99 SIfT:
1. AR R A T8I € AR R AT Tl R 8

2. ARREFT T IR R AT Ut Irem 78T @
L ATE eI R TR S ©
4. ATEI TR e AT RGE

Options :

686340159877. 1
686340159878. 2
686340159879. 3
686340159880. 4

Question Number : 71 Question Id : 68634040484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Pattachitra- a traditional painting of Odisha.

Reason R:The name Pattachitra comes from a Sanskrit word patta, which means canvas/cloth and chitra
means picture.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R 18 NOT the correct explanation of A
3. A is correct but R is not correct

4. A 15 not correct but R is correct

Options :

686340159881. 1
686340159882. 2
686340159883. 3
686340159884. 4

Question Number : 71 Question Id : 68634040484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

- g U U U §: U SUPU (Assertion A) & =0 H [e1Rad § 0l G¥R1 3UD BRI (Reason R) P
0 H:

HTUDYT A: TeE- ST &1 U WA REaR gl

Em?%m: e Teg Segd YW & Meg U2 9 1 6. f5ga] ol $9a19 / Susl g aul g &1 ddf exg )
IEEE]

SURIGd DU & 3f7elie H, A fEu g faeeal § 9 a9 SUged ST &1 99 SIfoi:
1.ASIRREH T8I & 3R R, AT Tol RS ¢

2. A SRR &IHI gl § SRR AT 96l AT 6l §
AR e Ofr IR TR TS ©
4. ATEI TR e AT R TS

Options :
686340159881. 1
686340159882. 2



686340159883. 3
686340159884 4

Question Number : 72 Question Id : 68634040485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Vatsyayana in his book Kamasutra mentioned about 6 main Principles/limbs or shadanga of
paintings.

Reason R: Proportion of the object or subject is related to Lavanyayoganam.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 13 NOT the correct explanation of A
3. A1s correct but R is not correct

4. A iz not correct but R is correct

Options :

686340159885. 1
686340159886. 2
686340159887. 3
686340159888. 4

Question Number : 72 Question Id : 68634040485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 3l 2 (ST T §: U 3BT (Assertion A) & & H {oRGd ¢ Al gHI 3UD BRI (Reason R) B
0 H:

ST A: T 5 A T S § REeal & 6 744 [H<ial/ s a1 gsa & R o
Jwd fear gl

HRT R: A% A1 {499 1 FHEYG SIqUaaiH=ME 3§ HelEd
SWRIGd DU & 3felie §, A U e faweal ¥ 3 969 SUgad IR &1 99 DI
1. A 3R R 21 961 € iR R. A & W5l AR ©

[ B

A SRR S € SRR AT IS e el ©
AT AfPIR USRI ©
4 AT TR AR TS

Options :

686340159885. 1
686340159886. 2
686340159887. 3
686340159888. 4

Lad

Question Number : 73 Question Id : 68634040486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Sfumato is a techniques involving dramatic contrasts between light and dark. while chiaroscuro
mvolves subtle gradations of tone and soft edges.

Statement IT: Sfumato is a technique mvolving subtle gradations of tone and soft edges, while chiaroscuro
uses dramatic contrasts between light and dark.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both statement I and Statement IT are correct

[ B

. Both statement I and Statement II are incorrect

L¥]

. Statement I is correct but Statement II is incorrect

4. Statement I 15 incorrect but Statement IT is correct

Options :

686340159889. 1
686340159890. 2
686340159891. 3
686340159892. 4



Question Number : 73 Question Id : 68634040486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

- g U 34U U 6 U SUPUT (Assertion A) & ¥9 H [1RGd § dl G¥R1 3UD BRI (Reason R) P
0 H:

SHTUBYT A: THA 98 TPA1D © [oreH JHTY AR SR & §ig AePh T dur g, To] Rl H 9t
3R gamH f6-R] &1 F=59 wRol 8idl|

PR R: THH[I 96 dDAID o [ored Qeil iR s fbART 1 Wwgd LRI g1, Sai SRRl §

TP R SR & did Fess iy qunii &1 3udi el |

SURIGd DU & 3felie §, A fEu e faeeal § 9 a9 Suged IR &1 99 DI
1. A dR R aF 98I € SR R, A S el e &

A SRR &HI 98 § 3R R. A &1 95! ARAT 76l o

AT AR TR R

4. ATEI TRl e AP R WEI ©

Options :

686340159889. 1
686340159890. 2
686340159891. 3
686340159892. 4

[

Lad

Question Number : 74 Question Id : 68634040487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The colours of a Rainbow are
A Orange
B. Yellow
C. Brown

D. Blue
E. Indigo

Choose the correct answer from the options given below:
1.A.B.C.E
2.A.B.D.E
3.B.C.D.E
4.A.B.C.D

Options :



686340159893. 1
686340159894. 2
686340159895. 3
686340159896. 4

Question Number : 74 Question Id : 68634040487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EEAIGE LR

A AN
B. Ulal
C.
D. Hlell
E Hd
At [AU U fasedl © 3§ Tl 3wk &1 9094 Bifoig;

1A, B, CE

[

.A.B.D.E
3.B.C.D.E
4. A.B.C.D

Options :

686340159893. 1
686340159894. 2
686340159895. 3
686340159896. 4

Question Number : 75 Question Id : 68634040488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Select the correct groups. where each object of the group is related.

A. Paper stencil, Block out stencil. Shellac steneil. photographic stencil
B. Printing table, Screen Frames, Mesh material. G-clamp

C. Printing table, Pen, Eraser. Book

D. Lacquer stencil. Computer. Printer. Dustor

Choose the correct answer from the options given below:

1.Aand B

| B

A B CandD
3.C.Dand A
4. Only D

Options :

686340159897. 1
686340159898. 2
686340159899. 3
686340159900. 4

Question Number : 75 Question Id : 68634040488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 7 1 997 B, O 98 31 I fawgasg 9efia g

A. AT L9, sl 3m3c Liet. el LR, Bichthe K
B. Ul cad Sbi thY, IR 9ayl, ofl-aim

C. ggU1 29, U, S¥OR, KD
D. TR L. ey, fiiex. 5%

e f4u U f[d@ed] 5 9 Ol 3R &1 90 Bl
1.LA3RB
A.B.C3RD
3.C.D3RA
4.%ad D
Options :
686340159897. 1
686340159898. 2

686340159899. 3
686340159900. 4

b2

Question Number : 76 Question Id : 68634040489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Which does not belong to perspective and Viewpoint

A. Linear

B. Foreshortening
C. Aerial

D. Low horizon
E. Distortion

Choose the correct answer from the options given below:
1.A.B.C.D
22B.C.D.E
33JAOB.D.E
4. B.AD.E

Options :

686340159901. 1
686340159902. 2
686340159903. 3
686340159904. 4

Question Number : 76 Question Id : 68634040489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P P iR erfas § defia At 8

A faw
B. 3{Ud&guifepo

e faw e feeed § 9 9t 3w @1 9uA Fifo

1.AB.C.D

[ )

B, G E
Y N
4 B.A.D.E

Options :

686340159901. 1
686340159902. 2
686340159903. 3
686340159904. 4



Question Number : 77 Question Id : 68634040490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other iz labelled as Reason R

Assertion A: Vibrant and crisp. egg tempera is stable, durable and the colors remain strong

Reason R: Egg dries in minutes, so the artist cannot blend colours on the surface of the picture or use impasto.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R 18 NOT the correct explanation of A

. A is correct but R is not correct

%]

4. A is not correct but R is correct

Options :

686340159905. 1
686340159906. 2
686340159907. 3
686340159908. 4

Question Number : 77 Question Id : 68634040490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d g1 By f3U 71U 3: U @Y (ASSERTION A) & ¥ H fafEd & o g8 3Ud &RUI (REASON R) & &4 H:
HYDHYT A - THSBIET HHUD, FSU IR R, RHr gidi & 9y 3 &k Ed 3

SR R - 3781 el § 9@ o1d] &, SUioT daeR [9F ©1 9de W 1 &I [F30 761 B2 964l & 91 9ig auidl &l
SUOR T8l B Gadi 6l

TR HY & el |, i f3U 7Y fGavedl 5 ¥ Gad Jugad IR &l 90 Hifel
1. A 3R R EHI U6 § SRR, A D! gl IR &
2. A SRR G T8I € AR R. A I U ORI 781 §
3. ATEI R AP R O TR
4. AR el S AlPTR TR ©

Options :
686340159905. 1




686340159906. 2
686340159907 3
686340159908. 4

Question Number : 78 Question Id : 68634040491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, Azurite- Pigment
B. Azurite- Colour
C. Azurite- Surface
D. Azurite- Form

Choose the correct answer from the options given below:

1A

| ]

i
3.B
4.D

Options :

6863401599009. 1
686340159910. 2
686340159911. 3
686340159912. 4

Question Number : 78 Question Id : 68634040491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. ToRTEE 515
B. UoRIge-4TT
C. UoRTge- Hae

D. UoRIZC-§-I6T
i< fu T [dedi T O Hol 3T &1 99 BIfeI:

1.A

b
@]

3.B
4.D

Options :

6863401599009. 1
686340159910. 2
686340159911. 3
686340159912. 4



Question Number : 79 Question Id : 68634040492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Oil paint can be transparent as well as Opaque. The artist applies thin layers of paint, letting each layer dry
before adding the next, to build up complex. luminous layers of translucent color. This classic use of oil paint.
known as

1. Glazing

2. Egg tempera

3. Fresco

4. Impassto
Options :
686340159913. 1
686340159914. 2

686340159915. 3
686340159916. 4

Question Number : 79 Question Id : 68634040492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a3 IRl & gy SR i §l 9Hdl 8 SAIHR T Bl geo! U oifud oXdl 6. AT Id
T © Ugd I® URd B @ odl 6. dlidr IRHE 1 &1 Sied. el TR [Hid &1 of 94 | 70 31 &
=9 YA YO & CoRARGI I

1. THD ATH]

) st .

3. fufafm

4. gig gui 1 771G AT
Options :
686340159913. 1
686340159914. 2

686340159915. 3
686340159916. 4

Question Number : 80 Question Id : 68634040493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, The Bodhisatva Padmapani-Cave no 1
B. Hamsa Jataka- Cave no 8

C. Matriposjaka Jataka-Cave no-7

D. Vivantara Jataka- Cave no 16

Choose the correct answer from the options given below:
1. A
2:b
3.D
4.C

Options :

686340159917. 1
686340159918. 2
686340159919. 3
686340159920. 4

Question Number : 80 Question Id : 68634040493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. SIS UsIaIivr- et €80T 1
B. 89 WA - T[T 93T §

C. AIJUINS WTde-Th G- 7

D. [qdeRT SIde- W1 TET 16
- Ty T fawedt & 9 el TR & 90 S

1.A

2.b
3.D
4.C

Options :

686340159917. 1
686340159918. 2
686340159919. 3
686340159920. 4

Question Number : 81 Question Id : 68634040494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, Michelangelo-Chiaroscuro
B. Michelangelo-Sfumato

C. Leonardo-Chiaroscuro

D. Picasso- Impasto

Choose the correct answer from the options given below:

1A

| ]

i
3.D
4.B

Options :

686340159921. 1
686340159922. 2
686340159923. 3
686340159924. 4

Question Number : 81 Question Id : 68634040494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 fau U fawedi O 9 9gl TR &1 994 S

1.A

b
@]

3.D
4B

Options :

686340159921. 1
686340159922. 2
686340159923. 3
686340159924. 4

Question Number : 82 Question Id : 68634040495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A: Tertiary colours are also referred to as analogous colours with respect to the colour wheel.

Reason R: Tertiary colours are situated between the Primary and Secondary colours with respect to the colour
wheel.

In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are correct and R 1is the correct explanation of A

[ O]

. Both A and R are correct but R i1s NOT the correct explanation of A
3. A is correct but R is not correct

4. A iz not correct but R is correct

Options :

686340159925. 1
686340159926. 2
686340159927. 3
686340159928. 4

Question Number : 82 Question Id : 68634040495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d g1 ®y f3U 71U 3: U @Y (ASSERTION A) & ¥ H fafed & o g8 34 &RUI (REASON R) & &4 H:
ATHFYT A : T T% & Yoy J JdIg® 1 & T2 91 & 0 | o efifa fem arar g |
ST R : 1155 & Fay H Jefgen 31, Wi 2R fdae 3 & &9 # Rua gid 81
IR Ty & Sl 4. 1d o T fasetl § U 9y Iugad STk &1 984 DIt
1. & 3R RGHI el § 3R R, A D Wl S §

A SRR I T8 8 3IRR. A D] US| L 761 &
ATS AT R IS TR ©
ATE el S AP R TR

Options :

686340159925. 1
686340159926. 2
686340159927. 3
686340159928. 4

[ )

Lad

e



Question Number : 83 Question Id : 68634040496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The development of color printmaking encompasses the struggles of many individuals with
materials and techniques, in their attempt to print color images fully expressive of their ideas.

Statement IT: The development of color printmaking majorly happened in the gth century Europe.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both statement I and Statement IT are correct

| B

. Both statement I and Statement II are incorrect
3. Statement [ is correct but Statement II 15 incorrect

4. Statement [ 1s incorrect but Statement IT 1s correct

Options :

686340159929. 1
686340159930. 2
686340159931. 3
686340159932. 4

Question Number : 83 Question Id : 68634040496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

EIEEAR:IE R AV S

HY 1. T e qevr &1 f[aory o, oafdad! & Yo o siftouad ol e, o+ 30 fauri o i foeff & gaor
U H guf fiaafan & WihR S & e H il SR de-ie] o 9ry 0gry fear

YT 11 ¥ e gau & fdom ugaa d off 9 § @0 | gufea gal

SWRidd ®Y- & Halie J, id fau 7 fasenl § O 9ed 3ugdd SR &1 994 Sifu
1. Y 1 3R 11 8H 9 §
2. YT 13IR 11 GHI 3ET

3. FUTI Y 2. Al oY 1 39T e

4. YT 3G B, AfeT YT 1908

Options :



686340159929. 1
686340159930. 2
686340159931. 3
686340159932. 4

Question Number : 84 Question Id : 68634040497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The first wood-encased pencils. between 16™ and the late 170 century pencil manufacture
developed very little.

Statement IT: Although most pencils come mn a standard 17.5 (7 inch) length.
In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both statement I and Statement IT are true

2. Both statement I and Statement [T are false
3. Statement I is true but Statement IT 1s false

4. Statement I is false but Statement II 15 true

Options :

686340159933. 1
686340159934. 2
686340159935. 3
686340159936. 4

Question Number : 84 Question Id : 68634040497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Hid &1 Py GY U
FY 1. U [AfFaiarsi 3 16 91 17 9 U8l & Iavd & d9id Uy ddbal @ia a0 ardl uf-aal &1 fasr |
HYF 11 BTANS AHUHI Ui AF® 17.5 (7 59) 9 3 A 81
IR Ty & el . e U T fasetl H U gy Iugdd IR &l 98- DIt
1. ®U 130R 118 TET 8
Y 18R 1S TTAd §
 PYT 16! €. TP PYF 17 §

4. YT 17T0d &, AT PYT 11 T8l &

[

L]

Options :

686340159933. 1
686340159934. 2
686340159935. 3
686340159936. 4

Question Number : 85 Question Id : 68634040498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Paintings of Ajanta expanded in all direction to cover the whole surface of the wall. but the
continuous narrative concept was retained and the resulting complexity immediately unbues the paintings of
Ajanta with a crowded. throbbing vitality.

Statement IT: The sequence of painting at Ajanta expanded in all direction and is only interrupted
occasionally by an architectural structure or a series of strange cubistic forms which provide barriers between
separate actions and even function as a prop for random images.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both statement I and Statement II are true

2. Both statement I and Statement II are false

3. Statement I is true but Statement II 15 false

4. Statement [ is false but Statement II 1s true

Options :



686340159937. 1
686340159938. 2
686340159939. 3
686340159940. 4

Question Number : 85 Question Id : 68634040498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 gl Hy Ru e &

FYT 1-35d1 & 07 SIaR B UU g Bl ATTGd B3 & o JH fexmsfl H fawaia gu. fovg FRaR e
Gyl ﬁ—fﬁ%” TG T R ORUTHEESY 30d dieadl U ol SFal & [FeR] &l Ue 4gul, Ta-1g Aeayuld
Y Fhwrd I

HYF 11 3fofal H b @ orghd 9T fGamail & fawqRon gan qu1 aar.-oal ol food! RITTe TR=1 21 faqam
W?ﬁgj@@mm&fﬁﬁﬁm%@mmﬂﬁwm%m =xgl & O U & U H Ud i & o Hady
BHEE G

SR HY & Halie §, 1< U U fasel § ¥ ged Iugdd IR & 984 Difa
1.PYF 1 3R N aH 9§
Y 1 3R 15T 3T §

PYT1Id T fpT oY 1 3Ed T

[

Lad

PYI T B ol oY n9d®

e

Options :

686340159937. 1
686340159938. 2
686340159939. 3
686340159940. 4

Question Number : 86 Question Id : 68634040499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: One of Akbar's most significant contributions was the creation of the Mughal school of painting.
He established a state atelier where about a hundred artists, mostly Hindu worked under the guidance of the
two persian masters.

Statement IT: Akbar established the state atelier only for the Hindu artists, no any other artist from other
regions were allowed there

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both statement I and Statement IT are true
2. Both statement I and Statement IT are false
3. Statement I is true but Statement II 1s false

4. Statement I 15 false but Statement IT is true

Options :

686340159941. 1
686340159942. 2
686340159943. 3
686340159944. 4

Question Number : 86 Question Id : 68634040499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340159941. 1
686340159942. 2
686340159943. 3
686340159944. 4

Question Number : 87 Question Id : 68634040500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the unique characteristic of Rembrandt Van Rijn's painting?

A. His interest in details of fabric and jewels

B. Rembrandt's display of chiaroscuro suggests the mood of the painting
C. Rembrandt's artworks are known for their dramatic movement.

D. His focus on real-looking still life painting

E. All of the above

Choose the most appropriate answer from the options given below:
1. E only
2.B only
3. Aonly
4. C only

Options :

686340159945. 1
686340159946. 2
686340159947. 3
686340159948. 4

Question Number : 87 Question Id : 68634040500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340159945. 1
686340159946. 2
686340159947. 3
686340159948. 4

Question Number : 88 Question Id : 68634040501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Amrita Shergil influenced by-

1. Pahari Miniature painting

]

. Rajput miniature painting

%]

. Ajanta Murals
4. Bhimbetka paintings

Options :

686340159949. 1
686340159950. 2
686340159951. 3
686340159952. 4

Question Number : 88 Question Id : 68634040501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340159949. 1
686340159950. 2
686340159951. 3
686340159952. 4

Question Number : 89 Question Id : 68634040502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

The technique that utilizes acid in the process of making a plate 1s called

A. Etching

B. Planography
C. Bitting

D. Serigraphy

Choose the correct answer from the options given below:
1. C only
2. Aonly
3. B only
4. D only

Options :

686340159953. 1
686340159954. 2
686340159955. 3
686340159956. 4

Question Number : 89 Question Id : 68634040502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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c. dieor
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-2 feU T fodedl & § Hel 3R &1 90 DI
1. %dd C
2. hadl A
3. ®ad B
4.4 D

Options :

686340159953. 1
686340159954. 2
686340159955. 3
686340159956. 4

Question Number : 90 Question Id : 68634040503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Engraving dry point and mezzotint can be defined as ' ' technique where acid 1s not required
A. Serigraphy
B. Planography
C. Intaglio
D. Relief printmaking

Choose the correct answer from the options given below:

1. Aonly

| B

. C only

L¥¥]

. B only

4. D only

Options :

686340159957. 1
686340159958. 2
686340159959. 3
686340159960. 4

Question Number : 90 Question Id : 68634040503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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2.%ad C
3. %dd B
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Options :

686340159957. 1

686340159958. 2

686340159959. 3
686340159960. 4

Question Number : 91 Question Id : 68634040504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A medium used to bind pigments- most commonly made from egg volk, but also from milk a various glue
guni,

A Ol

B. Acrylic
C. Water
D. Tempera

Choose the most appropriate answer from the options given below:

1. A only
2. B only
3. C only
4. D only

Options :

686340159961. 1

686340159962. 2

686340159963. 3
686340159964. 4



Question Number : 91 Question Id : 68634040504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

q@dl Sfsuld fob gu a1 fafim 7ie 9§ & Yool &l i 3 Wged J1eH 6

A Ud
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C.9ld
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- feu T fawedt # 9 el ST &1 9 DI
1. Phdd A
2. %ad B
3. $ad C
4.%4dd D

Options :

686340159961. 1
686340159962. 2
686340159963. 3
686340159964. 4

Question Number : 92 Question Id : 68634040505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which print making technique 1s also known as inkless intaglio?
A, Collography
B. Monoprint
C. Serigraphy
D. Embossed print

Choose the most appropriate answer from the options given below:

1. A only

J

. D only
3. B only
4. C only

Options :

686340159965. 1

686340159966. 2
686340159967. 3



686340159968. 4

Question Number : 92 Question Id : 68634040505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

686340159965. 1
686340159966. 2
686340159967. 3
686340159968. 4

Question Number : 93 Question Id : 68634040506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Willow charcoal used for-

1. Painting

2. Printing

L S]

. Applied
4. Drawing

Options :

686340159969. 1
686340159970. 2
686340159971. 3
686340159972. 4

Question Number : 93 Question Id : 68634040506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :



No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

686340159969. 1
686340159970. 2
686340159971. 3
686340159972. 4

Question Number : 94 Question Id : 68634040507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The subject-matter of the paintings as of most of the surviving examples from Ajanta. 1s the
various lives and incarnations of the Buddha. told in jataka tales.

Statement II: The Artisans and craftsmen who worked at the Ajanta Caves were not aware about any other
religion then Buddhism.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both statement I and Statement IT are true

-2

. Both statement I and Statement IT are false

. Statement I is true but Statement II 1s false

Lad

4. Statement I 15 false but Statement II is true

Options :

686340159973. 1
686340159974. 2
686340159975. 3
686340159976. 4



Question Number : 94 Question Id : 68634040507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340159973. 1
686340159974. 2
686340159975. 3
686340159976. 4

Question Number : 95 Question Id : 68634040508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Relief I [|Stencil
Intaglio II. |Aluminum platg

Planography | 111 |Acid
Sengraphy IV [Lincleum block

o ofw[>

Choose the correct answer from the options given below:

1. A-L. B-II. C-III. D-IV
2. A-IV. B-III. C-I1. D-1
3 A-IV. B-IO0, C-1L D-I1
4. A-TI. B-IV. C-1, D-II

Options :

686340159977. 1

686340159978. 2

686340159979. 3
686340159980. 4



Question Number : 95 Question Id : 68634040508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-1I. C-III. D-IV

ofo]w[»

| B

ATV, B-IIL C-II1. D-I
3. A-IV. B-IT1, C-1. D-II
4. A-III. B-IV. C-1. D-II

Options :

686340159977. 1
686340159978. 2
686340159979. 3
686340159980. 4

Question Number : 96 Question Id : 68634040509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List [T

LISTI LISTII
A |5ingle Block method I |Separate blocks for each colour
B. Mulu Block method II. |used for relief prinumaking
C. [Reduction block method | III. [Removal of non-printing areas
D. [Linolenm block IV. |[Bemoval of umage at every stage|

Choose the correct answer from the options given below:

1. A-IIL. B-1. C-II. D-IV

| )

CA-L B-TV, C-IIIL. D-II
3. A-IIL B-1. C-IV. D-II
4. A-1. B-II. C-III. D-IV
Options :

686340159981. 1
686340159982. 2



686340159983. 3
686340159984. 4

Question Number : 96 Question Id : 68634040509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IIL. B-1. C-II. D-IV
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| B

CA-L B-TV. C-III. D-II
3. A-IIL B-I. C-IV. D-II
4. A-I, B-1L, C-II1. D-IV

Options :

686340159981. 1
686340159982. 2
686340159983. 3
686340159984. 4

Question Number : 97 Question Id : 68634040510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: In intaglio process. the artist next spread ink over the plate. and then wipes off the surface, so
that the ink remains only in the incised design.

Reason R: In intaglio process the printmaker carves a block and ink the remaining flat surface. place a paper
over the block and either hand rubbed or run through a press.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

| )

. Both A and R are true and R is NOT the correct explanation of A

3. A s true but B is false

4. A is false but R is true

Options :

686340159985. 1
686340159986. 2
686340159987. 3
686340159988. 4

Question Number : 97 Question Id : 68634040510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340159985. 1
686340159986. 2
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686340159987. 3
686340159988. 4

Question Number : 98 Question Id : 68634040511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT

LISTI LISTII
A |Threatened City I |[Ramkinkar Bayj
B. |Extension of Desire II. |Arpana Kaur
C. |Call of the Mill III. |Gogt Sarog Pal
D. |Anandit Naika Launching Tropica orange juice | IV. [Jai Zarotia

Choose the correct answer from the options given below:

1. A-IL. B-II1, C-1. D-IV

[

CA-IL B-IV, C-1. D-III
3. A-IV. B-III. C-II. D-I
4. A-1. B-I1. C-III, D-IV

Options :

686340159989. 1
686340159990. 2
686340159991. 3
686340159992. 4

Question Number : 98 Question Id : 68634040511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IL. B-III. C-L. D-IV
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CA-ILL B-IV, C-1L D-III
3. A-IV., B-II1, C-II. D-1
4. A-I, B-1L, C-II1. D-IV

Options :



686340159989. 1
686340159990. 2
686340159991. 3
686340159992. 4

Question Number : 99 Question Id : 68634040512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Brightness is the dimension of colour referred to a scale running from dim to bright.

Reason R: There are four psychological primary hues, each of which has resemblance to others.

In the light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true and R is NOT the correct explanation of A

L

A s true but B is false

4. A is false but B is true

Options :

686340159993. 1
686340159994. 2
686340159995. 3
686340159996. 4

Question Number : 99 Question Id : 68634040512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

686340159993. 1
686340159994. 2
686340159995. 3
686340159996. 4

Question Number : 100 Question Id : 68634040513 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which technique reproduction of Artworks cannot be done-

1. Sculpture

J

. Painting
3. Printmaking
4. Photography

Options :

686340159997. 1
686340159998. 2
686340159999. 3
686340160000. 4

Question Number : 100 Question Id : 68634040513 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340159997. 1
686340159998. 2
686340159999. 3
686340160000. 4



